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4325-A

M.A. (Previous) Examination, 2015

ECONOMICS
Paper-V A
(Labour Economics)

Time : Three Hours
Maximum Marks : 100

PART-A (@UE-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Tf T FE fEE ¥ T T # IW S0 v
q fuw T B owsht T @ ofw wEe #

PART-B (@'2-9) [Marks : 50
Answer five questions (250 words each). Selecting
one question from each unit. All questions carry equal marks.
TIF TR ¥ TH-UEH WA I g, F@ urw
WA HIVT T&F T H IW 250 TR 9 e 7 B
Tft o B ofw wEm ¥

PART-C (@ve-W) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.

FE A WA I Y&F W F IW 300 TR
Q fyF T 8wt I oF e R
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PART-A
(gue-3t)

1. Answer the following questions : 10x2=20

frafafes 3w ® W AT ¢

UNIT-I
(wr-1)
(i) What do you meant by Labour Economics ?

A9 N Y ATH T ANE B2

(i) How to measure Turn-over ?

a9 IREdT w HY W9 S 82

UNIT-II
(F=E-1)

(iii) Define poverty.
faden =t afoafie ifs@)

(iv) What is the relationship between Employment and
development ?

IR qen fAem @ T w22
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UNIT-111

(FE-111)
(v) What are the non-wage component ?
R-Aogd o F R?

(vi) Distinguish between minimum wage, living wage and
fair wage.

2ATH Al Sted-fafs 7ol awn e wegh
s =)
UNIT-IV

(3&E-1V)

(vii) What is industrial relations ?
Areifrr waw w22

(viii) Write four causes of Industrial disputes.

Arefirr foar) & 9r wrw fafe)

UNIT-V
(3E-V)
(ix) Explain the problem of child labour.
9 99 I U GHERT
(x)  What is Exit policy ?
frfa +ffa @ 22

4325-A/1550/555/81 3 [P.T.O.



PART-B
(Q@Ue-7)

UNIT-1

(3=E-1)

2. Explain clearly the Demand for labour and supply of labour.
545

g9 FT AN JA SW F YR w qoRT: FEAET

3. What are the main causes of absenteism ? How can these
be minimised ? 6+4

SRR % e FRT BF ¥ ¥ 3% HY w9 fEww o
@ #?

UNIT-II

(gm-11)

4. What do you mean by unemployment ? Discuss the various
types of unemployment in India. 3+7

TS W SMTHT F1 9 27 97a ¥ yemmd 3 fahm
TR # fag=m wife

S.  Critically describe the employment policy in India during
the last five year plan. 10

T TEEYE AN ® A 9RA § SR A # e
Fquig FHIfTl
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10.

11.

UNIT-III
(FE-111)
What are the main causes of wage differentials in India ?
10
9 o HOgd-3 % Y@ wRO wA 9§
Explain the main factors of National wage policy in India.
10
9IRGB TR Aol Aifa ® Tq@ uew #1 fFEe wif

UNIT-IV
(FT-1V )
Describe the growth and structure of Trade unions in India.
10
9 H oW TS % A aw s w oo #ifew)

What is the role of workers pariicipation in management in
Indian economy 7 10

TReT oreiemaeen H ey H sftenl w1 wEwtar &1
qferr 22

UNIT-V

(3FTE-V )
Write a short note on labour welfare in India. 10
IRG ° o9 HeAU W UEF Higw feoqoft fafau

Discuss the main recommendations of Second National
Commission on labour. 10

f5fta a9 oA #1 g fawfar #1 fagsm st
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12.

13.

14.

PART-C

(@Us-w|)
UNIT-1
(3®E-1)
Describe the nature and characteristics of labour market in
developing countries like India. 5+10

R S fawaeie 39 A oW SR #1 Wi @ freee
F ORI

UNIT-1I

(TFE-11)

What are the main functions and role of personnel
management in India ? 8+7

9RE § FHE T g w1 e Jfas w0

UNIT-1II

(geT-111)
Critically evaluate the bargaining theory of wage
determination with the help of suitable diagrams. 15

gl frefr ® dmeme fagim w1 swde Wt @t
TEEd W ST s qediEd i)
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15.

16.

UNIT-1V

(TEE-1V )
Critically examine the present machinery for settlement of
industrial disputes in India. 15

ga ° oIeifre e ® feR # wium sgEen w1
SRS Them S

UNIT-V

(FFE-V)

What is the difference between social insurance and social
assistance ? Explain the need and importance of social
security in India. 7+8

oI S qen IR e ¥ A o 82 wRa o
TS AT F SFETET U Wed Hi faae wifsw
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